N do/dD 3Purham

Ratio to DELPHI

=
o
o

=
o
w

=
o
N

10

0.5

91 GeV ee vy*/Z (Hadronic)

| : | : | | : | : | : | : | : | : | : |
= Three-jet fraction(delp-Durham) =
Z-‘ ]
— \‘ ]
= h E
= S
- ‘ 1
= 0w E
: w -
N ‘1\,1 .
E !’q.\.\\\. E
— m  DELPHI b N .
| --o-- Pythia 6.428 390 ""*1::-.1 —
= --8- Pythia 6.428 391 !"*?.:;\.\ s
~  -.o-- Pythia 6.428 392 R .
- Pythia 6.428 396 TR —=
= -%-- Pythia 6.428 397 B 3
[ --¥-- Pythia 6.428 398 :
_l | | | | | | | | | |_
= ' ' ' ' ! ' ' ' ' -
[ pZsgo-eo g O g
L *"’V‘"V‘*\i\.&i,/*\i —elae SiSimizia, 1
B \¥::::'—':¥:==._#__ - é —
i ssgik__-_..“{,__:t______i |
l L L L L . l L L L L l
0 0.05 0.1

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


